Unit 3 Circles Review

Angles in Circles
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1. In the circle below, C is the center, m£C4B =35°and mzACB = 110°. Find the following
measures.
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Segment Lengths in Circles
Write the formulas:
o Chords that intersect inside:
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e Secants that intersect outside:

o« Secant and Tangent that intersect outside: (&

Find the indicated measure.
10) Find x.

(D2 =(6)B)

[Hx=13
o T
wE il

¢
gutsyde

s [taA) eot)ehde)

11) DE =2x+ 8, EC =3, AE = 4x-3, and
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12) Find x.
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13) Find x.
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14) Find the mKM.
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Arc Length and Sector Area

Write the formulas:
Circumference: "0 0. Y D

15. Find the length of the top secant.
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Find the arc length and sector area of the following. Peckon asiad 0f clegres
—
16. 190 24T 14 = (154-« ot 17. cfegfrol angle of 850 and a diameter
%3 " .l Of 2 Gl G(w—zs- s
L {*\‘ﬂ.f’LP? o= D=t 5
Arc Length: _ Arc Length: B m _
J 4 Hanene ook 85 zires
! A\
’._'—S-O TT l_q - “_r k& _‘, @(9 &
E L |
‘ il S rk
Sector Area} HEL-556¢ | Sector Area: ﬁ;@l L ok e
— 30




18. The diameter of a pie is 10 in. The pie is
cut into 8 slices. What is the arc length of
each slice?
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19. An Apple pie has a radius of 4.5in. The
pie is cut into é equal pieces. What is the
area of each piece of the pie?
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20. A sprinkler has a circular path that sprays 20 ft {the radius of the circle). If the sprinkler
is set to a quarter turn, what is the area of the yard that will be watered?
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21. The radius of a bike wheel is 12 inches. There are 9 spokes on the wheel. What is the

length befwee1n each spoke?
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22. There are two pies each with a diameter of 12 in. One pie is cU‘r_'iB’fo 6 slices. The
ofher is cut info 10?§Iices. How much more pie do you get from a slice of the first pie?
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23. A circular track has a diameter of 100 yards. A track athlete sprints around half the -

24. The Cheesecake Factory has two different sizes of cheesecake. A small cheesecake
has a diameter of 8 inches and is cut into 8 slices. A large cheesecake has a
diameter of 12 inches and is cut into 12 slices. Which option would give you more
cheesecake; purchasing three slices of the mediuvm cheesecake or two slices of the
large cheesecake?
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